Instructions of 1001 Wall Fixed Installation for Panel TV

1. Technical parameter

Weight : 4.9kg; Size of flat panel TV: 30"~64"; Maximum load:75kg ; pitching angle:£10° ;

Distance from wall: 75mm .
2. Part List

Please check the parts in the package in comparison with the following list. Make sure all of the parts are in the
package. Never use defective parts. Never replace part with different specification.

U

(A)Self-tap screws(6)

3] (0

¢,

(B)Plastic anchors(6) (C)25*25 shim(4) (D) Plastic sleeve(4) (E)@8 Flat washer(5) (F)@5 Dentiform washer(4)

& O = e =

(G)@6 Dentiform washer(4) (H)@8 Dentiform washer(4) (DM5*30 Screw (4) ()M5*15 Screw(4) (K)M6*30 Screw (4) (L)M6*15 Screw (4)

{ =

(M)M8*30 Screw (4) (N)M8*15 Screw (4) (0) knob (2)

3. Installation and operation instructions

@

% @

ol

Wall Plate(1)

Note: please read the instructions carefully before installation!

Left bracket (1)

Right bracket (1)

Step 1:

Use the wall plate as a templet to drill
six holes of #10mm diameter and
50mm depth in the concrete wall. Then

wedge six plastic concrete anchors into
the holes.

Step 2:

Install the wall plate. Put the wall plate
on the wall, and then screw six lag bolts
into each plastic concrete anchor through
metal washer to fix the lag bolt, the
plastic concrete anchor and the wall.

STEP-5

WALL

Step 3:

Install the monitor brackets onto the
back of the panel TV: screw two bolts
into the holes in the back of the panel
TV to install each monitor bracket.
Make sure the distance from each
bracket to the top of the panel TV is
equal, and also as center as possible.
The knob shall face outward of the
panel TV. The parts shall be selected
according to the dimensions of the
holes in the back of the panel TV.

Step 4:

Enlarged view 1: hang the two
monitor brackets on the wall plate,
relax the hands until they are caught
hold of.

Enlarged view 2: Fix the two bolts
under the monitor brackets inside of
the wall plate and then screw them
down.

Step 5:

Adjust the angle of the panel TV
between -10°and +10° to a suitable
position, and screw the knobs up at
last.

umount, Unit 2 Lon Parcwr Business Park, Ruthin, Denbighshire, LL15 INJ - www.umount.tv




